R BTHA « RFFEFR =EL (=)

TF AL . 0551-6528 6658 0553-5368 828

2025 FEREFAE (FRiFE) ZH=FH (=)

(B43: 15043  BFTE: 120 250%8%)

Part I Vocabulary and Structure (2 x15 points)
Directions: There are 15 incomplete sentences in this part. For each sentence there are four choices marked A, B, C and
D. Choose the ONE that best completes the sentence, and then mark the corresponding letter on the Answer Sheet.

1.—I’m afraid I can’t attend the meeting tomorrow.

A. That’s a good idea. B. What’s the problem?

C. Don’t worry, I’ll take notes for you.  D. Yes, I agree with you.

2.If1 you, I would apologize to her immediately.

A.am B.was C.were D. have been

3. The long-term of the new environmental law are expected to reduce pollution significantly.

A. affect  B. effect C. effort D. afford

4. By the time we arrived, the movie for 10 minutes.

A.had started B.started C.hadbeenon D. has started

5. Neither the students nor the teacher

allowed to use phones in class.

A.is B.are C.were D. have been
6. The book on the desk belongs to Mary.
A.lay B.lain C.lying D. lied

7. It’s high time we action to protect the environment.

A.take B.took C.willtake D. have taken

8. She suggested that the meeting postponed until next week.

A.is B.be C.was D. wouldbe

9. he is young, he has traveled to over 20 countries.

A. Although  B.Because C.Unless D. Since

10. Hardly the door when the telephone rang.

A.Thadclosed B.hadIclosed C.Iclosed D.didI close

11. The company plans to its sales target by 30% this year.

A.rise  B.raise C.arise D. arouse
12. Please the lights before leaving the room.
A.turn off B.turnup C.turndown  D. turn over

13. We need to the application form by Friday.

A.handin B.handout C.handover D. hand back

14. She has a natural for learning languages.
A. ability B.energy C.possibility D. activity
15. —Could you tell me where the nearest post office is?

— !

A. It opens at 9 am. B. You can take Bus No. 5.

C. It’s two blocks ahead on your right. D. I need to buy stamps too.

Part II Cloze (2 x 10 points)

Directions: There are 10 blanks in the following passage. For each of the blank there are four choices marked A. B. C

and D. You should choose the ONE that best fits into the passage and mark the corresponding letter on the Answer Sheet.
One sunny morning, the Green Earth Club decided to clean up the local park. They knew that even small efforts

gloves and trash bags, ready to work.

could make abig _16  to the environment. Ten volunteers _17

As they walked through the park, they noticed piles of _18  like plastic bottles and food wrappers. “This is
terrible,” said Lily, a high school student. “But if we all do our part, things will improve.” She picked up a broken glass
bottle _19  and dropped it into her bag.

By noon, they had filled over 20 bags. A passerby stopped to thank them, saying, “Your actions _20  others to
care more about our planet.” The club leader smiled and replied, “We hope this inspires people to think _21  before
littering.”

22 the cleanup, the park looked much cleaner. The volunteers felt proud but also realized that maintaining
cleanliness required _23  effort. They decided to organize monthly cleanups and put up signs reminding visitors not to
24  their trash.

This story shows that when individuals take responsibility, communities become _25  places to live.

16. A. difference B. problem C. choice D. challenge
17. A. wore B. bought C. sold D. forgot

18. A. tools B. waste C. flowers D. books

19. A. angrily B. carefully C. loudly D. suddenly
20. A. force B. encourage C. warn D. order

21. A. twice B. once C. never D. less

22. A. Before B. During C. After D. Without

23. A. no B. temporary C. continuous D. simple

24. A. burn B. hide C. litter D. ignore
25. A. uglier B. quieter C. healthier D. darker
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Part III Reading Comprehension (2 x 20 points)
Directions: There are 4 passages in this part. Each passage is followed by some questions or incomplete sentences. For
each of them there are 4 choices marked A, B, C and D. You should decide on the best choice and mark the corresponding
letter on the Answer Sheet.

Passage One

The shift towards remote work has changed how we work. Many companies now allow employees to work from

home. This change has several advantages. People save time and money on commuting. They can also create a workspace
that suits them, which may improve their work-life balance. Studies show that remote workers are often happier and more
productive when they have the right tools and support.

However, remote work also has challenges. When team members are not in the same place, communication can be
difficult, leading to misunderstandings or delays. Managers need to find ways to keep teams working well together even
when they are apart. Also, the line between work and personal life can become blurred, causing people to work too much
and affecting their mental health.

Successful companies help remote employees by providing good digital tools for communication and project
management. They also set clear guidelines about when to be available and how quickly to respond to messages. Training
programs for remote work further help both managers and employees.

26. What does the word "remote" mean in the context of this passage?
A. Close by

B. Local

C. At a distance

D. Immediate

27. What is one advantage of remote work mentioned in the passage?
A. Employees save time and money on commuting.

B. Employees can avoid using digital tools.

C. Employees can work without any guidelines.

D. Employees can ignore work-life balance.

28. What challenge is mentioned regarding team interaction in remote work?
A. Improved communication

B. Potential misunderstandings

C. Faster project completion

D. Enhanced creativity

29. What do successful companies do to support remote employees?

A. Ignore digital infrastructure
B. Discourage flexible schedules
C. Provide reliable communication tools
D. Limit resource access
30. According to the passage, what is a potential negative impact of remote work on individuals?
A. Increased social connections
B. Improved work-life balance
C. Reduced stress levels
D. Mental health issues from overwork
Passage Two

In recent years, the way we get energy has changed a lot. This is because people are worried about the environment
and new technologies are being developed. Solar, wind, hydroelectric (7KF|% Hif¥]), and geothermal (M) power
are becoming popular alternatives to fossil fuels. Solar panels, for example, have become much cheaper and better at
converting sunlight into electricity, making them a good choice for homes and businesses.

Wind energy is also growing, especially with the use of offshore wind farms. These farms can generate more energy
and are less noticeable than those on land. Improvements in wind turbine design have made them more efficient and
longer-lasting. Hydroelectric power is still important in areas with lots of water and suitable land for building dams.

Governments are helping by offering incentives like tax breaks and special agreements to encourage investment in
clean energy. People are also more aware of the need for sustainable energy, which is pushing businesses to offer greener
options.

However, there are still challenges. Solar and wind power are not always available, so we need better ways to store
energy and update our power grids to handle these changes.

31. What has driven the transformation of the global energy landscape?

A. Environmental concerns and technological innovations

B. Reduced international cooperation

C. Increased fossil fuel availability

D. Decreased energy demand

32. Which renewable energy source is mentioned as having significantly improved affordability?
A. Hydroelectric power

B. Solar photovoltaic

C. Geothermal energy

D. Natural gas

33. Why are offshore wind farms increasingly adopted?
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A. They generate more energy and reduce visual impact.
B. They require simpler installation.
C. They are less efficient than land-based farms.
D. They depend on government restrictions.
34. The word "incentives" in the passage most likely refers to
A. penalties for non-compliance
B. public criticism
C. technical limitations
D. financial benefits to promote specific actions
35. What can be inferred about the future of renewable energy from the passage?
A. Fossil fuels will dominate indefinitely.
B. Energy storage and grid modernization are critical challenges.
C. Solar and wind will replace all other energy sources by 2030.
D. Governments will reduce support for clean energy.
Passage Three

Social media has changed how people connect and share information. It helps people stay in touch with friends and
family who live far away. It also allows people to find groups that share their interests or challenges and access
information they might not find locally. Many users say they feel less alone and more connected to global events and
movements.

On the other hand, using social media a lot can lead to problems like anxiety, depression, and feeling inadequate.
People often compare their everyday lives to the perfect images others post online, which can make them feel bad about
themselves. Younger users are especially at risk of cyberbullying and online harassment, which can harm their mental
health.

To address these issues, movements like digital detox and awareness campaigns encourage people to use social
media more mindfully and take regular breaks. Some platforms now have tools to track usage time and promote healthier
habits. Researchers are still studying how social media affects mental health and how individual differences play a role.
36. What is a positive effect of social media mentioned in the passage?

A. Maintaining long-distance relationships

B. Increased isolation

C. Limited access to global events

D. Promoting unrealistic lifestyles

37. What negative feeling might arise from comparing oneself to others online?

A. Enhanced self-confidence

B. Improved social skills
C. Reduced anxiety
D. Feelings of inadequacy
38. What action is suggested to address mental health concerns related to social media?
A. Increasing screen time
B. Participating in digital detox campaigns
C. Ignoring platform features
D. Encouraging cyberbullying
39. The phrase "digital detox" in the passage most likely means
A. buying new digital devices
B. taking a break from digital platforms
C. increasing online activity
D. promoting social media trends
40. What do researchers emphasize about social media's impact?
A. It affects all users in the same way.
B. Only positive outcomes are significant.
C. Individual differences play a role in its effects.
D. No further studies are needed.
Passage Four

Space tourism, once only in science fiction, is now becoming a reality. Companies like SpaceX, Blue Origin, and
Virgin Galactic are working to make space travel available to private citizens. They offer experiences from short
suborbital flights to longer stays on space stations.

The main customers for space tourism are wealthy individuals looking for unique experiences, researchers wanting
to conduct experiments in space, and companies exploring manufacturing processes that benefit from the space
environment. As technology improves and costs go down, more people may be able to afford space travel, creating new
economic opportunities.

However, there are still challenges. Safety is a big concern, especially during launches and re-entry. Regulations are
still being developed to ensure safe and responsible operations. The environmental impact of frequent rocket launches
also needs to be carefully considered.

Despite these challenges, the idea of regular space travel continues to inspire innovation and investment, possibly
leading to a new era of human exploration beyond Earth.

41. Which companies are pioneers in developing space tourism?

A. Toyota, Honda, Nissan
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B. SpaceX, Blue Origin, Virgin Galactic

C. Apple, Microsoft, Google

D. Coca-Cola, Pepsi, Starbucks

42. The term "suborbital" in the passage refers to flights that
A. complete a full orbit around the Earth

B. travel between Earth and the Moon

C. stay entirely within Earth's atmosphere

D. enter space briefly but do not orbit

43. Who is NOT mentioned as a potential customer for space tourism?
A. Wealthy individuals seeking unique experiences

B. Researchers conducting experiments

C. Government officials exclusively

D. Companies exploring space manufacturing

44. What is a major safety concern for space tourism?

A. Rocket launches and re-entry

B. Food quality in space

C. In-flight entertainment options

D. Language barriers among tourists

45. What does the passage suggest about the future of space tourism?
A. It will remain limited to government agencies.

B. Innovation and investment may lead to broader exploration.
C. Environmental impact will be ignored.

D. Costs will increase indefinitely.

Part IV Translation (5 x 6 points)

Directions: There are 6 sentences in this part. Please translate sentences 46-48 from English into Chinese into English,

and translate sentences 49-51 from Chinese into English. Write your answer on the Answer Sheet.

46. HALBEATEMALL RS, AT EERA ZZRHEL .

47. X BRI K 2 b .

48. RUE TS 2 Bk, WARIRIERF AR HLIE SR B DA A

49. Should you have any questions, please don't hesitate to ask me.

50. No matter how hard he tried, he couldn't solve the math problem.

51. This movie is more interesting than any I have ever seen.

Part V Writing(1 x 30 points)
Directions: In this part, you are required to write a composition on the Answer Sheet.

Your composition should be based on the following information.

Bt AT & 10 &, /D AR A AR (short videos) IR % H 253, 1 LUXMAFM, EHBETERER A
EOR, BE RN

FOR 1 W ASFEL AR A FD A, DORARA NI AL, P30 120 1 24 .

R 20 BEXREALIAT BT R A AT RE I, 54 HAH S X SR T 5, T 120 W A .



